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PART A — (10 x 1 = 10 marks)
Answer ALL questions.
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Input-Output Analysis was first introduced by

(a) ' W. Leontief (b) Quesnay

(c) Walras (d) Samuelson
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Input co-efficients are also called as

(a) technical co-efficient

(b) factor co-efficient

(© production

(d) production co-efficient
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Answer ALL

PARTB— (3 %57 25 marks)

questions, choosing either (a) or (b).

y = (xt + 5)(.\'2 - 4), aefi® dy/dx s&mE Gy,

11 (=0
If y=(x* +5)(x* _4), find dy/dx.
Or
(<3) 1’=i£-i aefle dyldx srews.
T bx+
If y=-2—Z find dy/dx.
5x+3
12 (e z=x-3wy+2° @ o@ady  uGH
aimesQsEsmaTub STETS.
Find the possible partial derivatives of
z:x2_3_13-+2y2_ .
Or
(=) P=8 erefley Cseeubaniumang

+=25-4P+ P’ s @@mé@h Curg Gzee
Ardpeflews sTas.

Find elasticity of demand if the demand
function is x =25-4P + P? when P =8.
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(B1) &reirs I(an ~3x% 4+ 5x+ 10)([.1: .

Find I(Sxa —3x% +5x+10)dx .
Or

SRS I2x(x2 -+ 5) dx.

Find I2x(x2 +5)dx .

(21) efufer LeTysamer afeuf.

Explain the properties of a Matrix.

Or
1 2 -3 4 -3 2
() A=(4 -5 6 | wpgwd B=|1 6 -4/,
7 8 -9 -7 1 3

erafld 2(A+ B)=24 +2B aené snl(s.

1 2 -3 4 -3 2
If A=|4 -5 6 | and B=|1 6 -4|,
7 8 -9 -7 1 3

show that 2(A + B)=2A +2B.
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Describe the basic concepts of input-output

analysis.

PART C — (5 x 8 = 40 marks)

Anewer ALL questions, choosing either (a) or (b).

Suum wh@b Bedlmy whHiiyseflen
Hlupseeaeae STEs.
What are the conditions for maximum and

minimum values?
Or
@=200-10P eeal®, OQurgs

sdewrs Boeéeblurg @ whmb Pl
SieeSlenend ETETE.

If @=200-10P
determine the level of @ and P where total

revenue is maximum.
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Find the first and second
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Find the total differential of z = —* .
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p = ‘10 - q - q2
sauddl(s.
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Find Consumers Surplus if p=40-q-4q

i ilibri when
and the consumer is at equilibrium

g=41.

o flug) ebr

61D D6

A=|1 -2 -3 er

3 1 1 '
Cptw@mpouw sTEIS. ~
Find the inverse of the matrix

0 -1 2
A=|1 -2 -3].

3 1 1

Or

Symotr  few vwearu@d  swauThiseman
Shdae|b. : o
2x-3y+4z=5 |
x+2y-3z=9 |
x-y-z=1 |
Solve the equations by using Cramer’s Rule. |
2x-3y+4z="5
x+2y-32=9
x-y-2=1
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Describe the uses of lnput-()utput Analyais,

Or
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Qof Comawnay Ass 18 wyman B,
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sans (s,

In an Economy of two industries A and B,
the data is given below in millions of rupees.

Purchase by | Final Demand | Total output
A B
Salesby A | 12 6 6 24
Sales by B 6 | 3 9 18

Determine the total output, if the final
demand changes to 18 for A and 36 for B.
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